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Division of integers

Grade 6 Integers Worksheet

Find the quotient.

1 130 + -10 =
3 .3+ -3=
> 142 + -2 =
7 .99 + 3 =
% -160 + -4 =
.4 +1 =
1333 + -11 =
15120 + -12 =

10.

12.

14.

16.

16 + -4 =
72+ 4 =
114 + -2 =
-180 + -4 =
10 + -10 =
120 + -4 =
1,000 + -10 =
161 + -7 =
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Division of integers

Grade 6 Integers Worksheet

Find the quotient.
130 = -10 = -13

3 .3+-3=1

> 142 + -2 = -71

99 + 3 = -33

9. 160 + -4 = 40

11.4+1:4

1333 + -11 = -3

15120 + -12 = -10

10.

12.

14.

16.

16 + -4 = -4
72 + 4 = 18
114 + -2 = 57
-180 + -4 = 45
10 + -10 = -1
-120 + -4 = 30

1,000 + -10 = -100

-161 + -7 = 23

Online reading & math for K-5

© www.k5learning.com



